
 

 

 

 

 



 2 

 

 

 

 

 

 

 

 

 

 

 

 



 3 

 

 

 

 

A N B N C N

f/Hz
5.000e+001 1.000e+002 5.000e+002 1.000e+003 5.000e+003 1.000e+004 5.000e+004 1.000e+005 5.000e+005

dB

-110

-100

-90

-80

-70

-60

-50

-40

-30

-20

-10

10

20



 4 

A N_14 B N_14 C N_14

f/Hz
5.000e+001 1.000e+002 5.000e+002 1.000e+003 5.000e+003 1.000e+004 5.000e+004 1.000e+005 5.000e+005

dB

-110

-100

-90

-80

-70

-60

-50

-40

-30

-20

-10

10

20

A N_27 B N_27 C N_27

f/Hz
5.000e+001 1.000e+002 5.000e+002 1.000e+003 5.000e+003 1.000e+004 5.000e+004 1.000e+005 5.000e+005

dB

-110

-100

-90

-80

-70

-60

-50

-40

-30

-20

-10

10

20



 5 

a1 b1 b1 c1 c1 a1

f/Hz
5.000e+001 1.000e+002 5.000e+002 1.000e+003 5.000e+003 1.000e+004 5.000e+004 1.000e+005 5.000e+005

dB

-110

-100

-90

-80

-70

-60

-50

-40

-30

-20

-10

10

20

A a1 B b1 C c1 

f/Hz
5.000e+001 1.000e+002 5.000e+002 1.000e+003 5.000e+003 1.000e+004 5.000e+004 1.000e+005 5.000e+005

dB

-110

-100

-90

-80

-70

-60

-50

-40

-30

-20

-10

10

20



  6 



Um=ς(tc)

= 



=

 

 

 



  7 

CHL Model Curve
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